
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

2.114 × 1000 = ________ 7.737 × 1000000 = ________

7.42 × 100000 = ________ 4.677 × 10 = ________

10.701 × 10000 = ________ 9.144 × 100000 = ________

1.491 × 10000 = ________ 8.479 × 10000 = ________

6.156 × 100000 = ________ 4.045 × 100000 = ________

1.15 × 10 = ________ 7.916 × 100000 = ________

10.727 × 100 = ________ 9.297 × 100000 = ________

8.148 × 10 = ________ 1.324 × 100000 = ________

3.57 × 100 = ________ 5.827 × 1000 = ________

4.178 × 100 = ________ 2.298 × 1000 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

2.114 × 1000 = 2114 7.737 × 1000000 = 7737000

7.42 × 100000 = 742000 4.677 × 10 = 46.77

10.701 × 10000 = 107010 9.144 × 100000 = 914400

1.491 × 10000 = 14910 8.479 × 10000 = 84790

6.156 × 100000 = 615600 4.045 × 100000 = 404500

1.15 × 10 = 11.5 7.916 × 100000 = 791600

10.727 × 100 = 1072.7 9.297 × 100000 = 929700

8.148 × 10 = 81.48 1.324 × 100000 = 132400

3.57 × 100 = 357 5.827 × 1000 = 5827

4.178 × 100 = 417.8 2.298 × 1000 = 2298
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